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Which among the following points arech?eked;n locomotives as a part of Monsoon Drive?
A) Working of Sanders y oo , 7 B)Roof water leakage
C) Working of wipers on lookout glass= D) All'the above.

w1 YA AR % qed drmmited § Frefafaa 3 @ fem faiged 6 sita i s 27?

Q.2

F 2.

Q.3

¥4 3.

Q4

Q.5

B 5.

Q.6

A 6.

Q.7

A) T=d i FEfyomedt . B)3d g = fae

C) T TS T T ATETL ohl FHrAToTedt D) 37t @il

Which type of Traction Motor is being used in WAG9H class of locomotives?

A) 6FXA 7055 B) TAO659 C) HA 12520A D) 6FRA 6068
WAGOH 2t % st & fore werr 3T ST Hiet =1 ST foharm simar 82

A) 6FXA7055 B) TAO659 C) HA12520A D) 6FRAG6068

Which fuse of conventional class of locomotive will melt first when there is an earth fault in loco
cab heater?

A) CCINV B) CCRA C) CCBA D) None of the above.
SIS et 31e ez € T FH-Trer SUit % SIhwITed i i 8T R Fed Taet fEem?

A) CCINV B) CCRA C) CCBA D) SWI # & g &l
What is the proportionate pressure in loco brake cylinder when the BP pressure is 5 kg/sq.cm?
A) 2.5 Kg/Sg.cm B)1.8Kg/Sqem  C)0.5KgSqem D) 0Kg/Sq.cm

S BP @419 5 kg/sq.cm R @1 St 51k foretet & starfoes qama #m 22

A) 2.5 kg/sq.cm B) 1.8 kg/sq.cm C) 0.5 kg.sq.cm D) 0 kg/sq.cm

During checking of wheel profile, during inspection in shed, which of the following parameter is
being checked?

A) Root Wear B) Flange Wear C) Tread Wear D) All the above
Ire o Frfterr 3 AU s Sieree Y Sife % o, Fefafad o @ e Yoo i site < St 22

A) &2 fam B) Foiw faraw C) 3 famx D) 39k gt

What is the maximum permissible root wear in wheel allowed for safely run of locomotives?
A) 1.5 mm B) 4.5 mm C) 3mm D) 6mm
SO o1 AT ®Y @ e & forg ufed § siftreman et wefarm @ 2

A) 1.5fedft B) 4.5t C) 3 frdft D) 6 frdft

Which among the following instruments can be used to measure current value of cables?
A) LCR Meter B) Clamp Meter C) Manometers D) None of the above.
Fraferfaa 3 8 B ST 1 ST Feel 3 e 919 1 819 o forg fma s wekar &2

A) LCR Hie&x B) Fiq HieX C) Bt D) 3TITh # € =S 7|
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Q.12

12

Q.13

913

What is the standard dimension of broad gauge used in Indian Railways?

A) 1000mm B) 1676mm C) 3845mm D) 768 mm

T Yo & SR eIt 1 Ao ST T 27

A) 1000 foeft B) 1676 frdft C) 3845 furdt D) 768 fadt

When HMCS-2 Is put in position- 4, which of_the following motors is isolated?

A) TM-2 B) TM-4 C) TM-3 D) TM-6

Ta HMCS-2 %t Reaf-4  war s 8, @ Frefoflaa 4 8 St S g se s £ 9

A) g -2 B) dIwH -4 C) & -3 D) &em -6

Which of the following pressure switches governs the working of locomotives compressors?

A) RGAF B) RGCP C) P-1 D) P-2
frafafaa & & w11 o1 Yyr Raw S S5 & wmee 51 feifa s de

A) RGAF B) RGCP C) P-1 D) P-2

Which among these is not a type of electro pneumatic contactor?

A) Line contactor for traction motor on BA panel B) Shunting contactor of BA panel

C) 3-Phase contactor for MVRH(C-107) D) None of the above.
ST Y |1 SORIAIT hi-dael 1 YR T &7

A) BA ¥ W 39 1t & foru e Fdee B) BA et #1 vifémshieaet
C) MVRH(C-107) % foTe 3-%siiodet D) 39F H & #1E 7]

When all the auxiliary converters i.e. BUR-1, BUR-2 & BUR-3 are in service, which among the
following motors load is on BUR-1?

A) Traction Motor Blower B) Oil Pump for Transformer

©) Oil Cooling Blower D) Scavenge Blower for Traction Motor Blower.

Ste 3 et ffaTert F¥ e I BUR-1, BUR-2 3K BUR-3 a7 2 &, af FrrfetRa o & e it
T YR BUR-1 T &raT 27

A) SHIH Ui AR B) ZE®THT ¥ forw 3 U

C) Hiraet FRATecIER D) 3T A ettt ¥ fory Sheetie

During starting of 3-phase locomotives, pantograph can be raised after which test node of main
processor unit comes in display at DDU screen?

A) 504 B) 550 €)590 D) 596 -

3-TheT SRS % TET % S, V0T 1 S0 33TaT 6 355 or e 6 § 8 7re 7 7T
HEEF T2

A) 504 B) 550 C) 590 D) 596
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FF 16
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Q.18

TF 18

. 758.41 D) 8.6
AT “HE AR T %wﬁmw%"

b gl MR

A) 8.1 B) 8.2 C) 841 D) 8.6

When HVSL-2 switch is in position-2, then which is the sequence possible?
A) Both MVSL-2 motors & QVSL-2 relay is in service

B) MVSL-2 motors in service, QVSL-2 bypassed.

C) MVSL-2 motors out of service, QVSL-2 working.

D) Both MVSL-2 motors & QVSL-2 relays out of service.

& HVSL-2f= fufa-2 # &, v i a1 o eva 22
A) 3HT MVSL-2 AIeT 3K QVSL-2Re #ar 7 §

B) MVSL-2 #r a1 & §, QVSL-29T$u 2|

C) MVSL-2 Hiet 841 § 9Tt €, QVSL-2 F1H &L & 8l
D) 3T MVSL-2 #1et 3 QVSL-2 et dar & et 8l

Which among the following features is available in Microprocessor Based Fault Control &
Diagnostic System, Version-3 provided in WAG-7 class of locomotives?

A) REMMLOT B) Friendlies Driver Interface
C) Inbuilt Vigilance Control Device D) All the above

WAG-7 30ft 3 351 & SUTeY HTEa INIEET ST Bleghzlel AN SR sh e, He -3 §
Frefofaa # &+t o fodvar suctey 22

A) REMMLOT

B) Theell grea 0

C) gAfaree fafSreia et feamsa
D) 3w Tt

Which among these is the contactor number for Traction Motor Blower for Bogie-I (TMB-1) in
3-phase class of locomotives?

A)55.1/1 B) 47.1/.1 C) 53.1/1 D) 59.1/1
335 Suft 3 S5 & FM-1 (TMB-1) % 0 399 Hiet seiiar & fou et 4 370 & wF € 82
A) 55.1/1 B) 47.1/.1 C) 53.1/1 D) 59.1/1

Which among these is not a fundamental unit of energy?

A) Kilowatt hour  B) N-m C) Joules D) Electron-volts
H 8 B Y Sl I T e 22
A) FeEe s B) N-m C) S D) seiggiH-aree
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421

Q.22

T 22

Q.23

94923

Q.24

924

Whenever Auxiliary Converter-2(BUR-2) gets isolated in a 3-phase locomotive, which
subsystem goes from green from red in the indication on Driver Display Unit?

A) SS-05 B) SS-06 C) S8-07 D)SS-08

o ot 3-SR i STt FaeR-2 (BUR-2) 37eiT &1 141 &, Al $15at 9 e W Hand
) A1 Ge e & 8 oTel 01 8 95 ST 87

A) SS-05 B) SS-06 C)'SS-07 D) SS-08

What is the ratio of hypotenuse & base of a right-angled triangle called?

A) Secant B) Cosine C) Tangent D) Cosecant
FHeRIOT gt o ol 3R AT 3 ST 1 T Fed 87
A)TFe B) FHTEA C) e D) FREFE

Which among the following undergear items in WAH-9 class of locomotives is a part of tractive
effort transmission?

A) Secondary vertical Damper B) Primary Spring

C) Traction Link Bar D) All of the above.

WAH-9 3roft 3 gorit & Frerfeifaa § & 3 @ sistirremgens e s gt o fewmm &2
A) Uhett afdame ST . B) wgad fas

C) 3= feish am D) 39T @il

What is the unit of measurement of electric potential?

A) Coulomb B) VoIt C) Ampere D) Watt

forege ferwrer o B g T B2

A) T B) dlee C) Tt D)dR

How many MR tanks in conventional locomotives are fitted with Auto drain Valves?
A)l B)2 C)3 D)4

FATA ST e THITR & Siieigaared & gafssd 87

A)1l B)2 0)3 D) 4

Chandrayaan-3, the third mission in the Chandrayaan Programme of ISRO, the lunar lander had
landed on which location of the moon surface?

A) Lunar North Pole B) Lunar South Pole

C) Copernious Crater D) Lunar Maris

TR & HEAH FEHA § e T S5-3, 9 et I2HT Fl Ha * e 4 W Sql o917
A) 55 3l ga - B)=zzfEvigE

C) FrfaEshet D) =iz mifEn
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locomotives?

A) Pantograph-VCB-Roofline-C ;
B) Pantograph-Rooﬂme—VCB-CHT 7

O) VCB—Pantograph-Rooﬂme-Transfonner-CHT

425

Q.26

¥4 26

Q27

w527

Q.28

¥H 28

Q.29

29

Q.30

¥4 30

Q.31

Wmm&m*w*mm A AR Ao SN s o
e o et e 3§ foree S S o A A A e

A) Forme - s war-Head-ZaE

B) Herms-wwars-aefie-Hiusd-g ATt

C) el EheTE- g HTCEeT

D) Frefteft-Fermme- - - ZaET

What is the rating of transformer used in WAG-9H class o locomotives?

A) 3500 KVA B) 5400KVA C) 6531 KVA D) None of the above.
WAG-9H 3oft & go o W ZiawrHt i fem 1 &

A) 3500 KVA B) 5400KVA C) 6531 KVA D) 39Uk & & 1S T8

During shunting mode operation of locomotives, what is the maximum speed of operation?

A) 3 KMPH B) 10 KMPH C) 15 KMPH D) 20 KMPH
ST e § St 3 e 3 A, Hare st sTfuehan i #T 8 n
A) 3 KMPH B) 10 KMPH C) 15 KMPH D) 20 KMPH

Which among the following is part of the CBC assembly?

A) Draft Gear B) Knuckle Pin C) Lock lifter D) All the above.

Ferferfiae 3 & 9 6 oo o, srdereh o0 e 2 -
A) g% firr B) e fud C) dieh ferdet D) J9h |11

Where was the 2024 Summer Olympic organized? _;'
A) Tokyo B) London C) Rio de Janeiro D) Paris

2024 HsrarTelia et T STRISH el T T

A) T B) @& C) fadsa D) Ui

Which is the type of leave which generally applied on medical grounds of the employee himself?

A) Paternity Leave  B) LHAP C)CL D) LAP

7 et & i o v o et 3 fafde s ot A At ¥

A) fige stasm B) LHAP L D) LAP

In which amiong the following type of braking in locomotives, energy is fed back to the grid?
A) Rheostatic Braking B) Anti spin Braking
C) Regenerative Braking ~ D) None of the above.

Page 5|18
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A) R 3T By e 3T 9
C) fremtfea sifsT D) Ik H & S T
Q.32 Which among the following LS lamp glows when notch comes to zero in tap changer of the rear g;
loco in MU operation of locomotive?
A) LSOL B) LSB C) LSGRO D) LSRSI
Y32 SRR ¥ g i e % S # i v 8 i & & i A e Q.
THHAT &7
A) TATEHATTA B) TeTHe! C) EEESIemE D) THTESITEss w3
Q.33 Which among the following is essential to prevent derailment of locomotives?
A) Wheel profile within permissible wear limit _ Q.
B) Safety slings on all under gear hanged items
C)BothA & B o=
D) None of the these. . ;
w33 Sort o ueh & Saet & T o forg Feffiaa # & = st & a
A) s T fora o e s R "
B) @it afetfrd i e sTmes T g fei
C) A R B aHt
D) ¥ & 8 e .
Q.34 After how many days of major schedule (IOH) of WAG-9 locomotive, is the next IB schedule
done?
A) 90 B) 120 C) 150 D) 180 Q.4
T34 WAG-OeEmIRE ¥ ipe g7t (I0H) % e ot 3 are swett 1B Srgeger et Sirar &2
A) 90 B) 120 C) 150 D) 180

Q.35 When panto selector switch of cab-2 is put in position-2, which panto is raised?

A) Panto-2 above cab-2 after ZPT is pressed

B) Panto-1 above cab-1 after ZPT is pressed

C) Panto-2 above cab-2 before ZPT is pressed va
D) Panto-1 above cab-1 before ZPT is pressed

w4 35 aﬁrq' 2 % 43y Srgerat fiaw =1 Rufa- 2ﬁt@1aﬁn% ArFa IR IEar e
A) ZPT 3T o &g T21-2%8-2 & FW
B) ZPT ZaH & a1 321 13a-1 % FH
C) ZPT 29 & Tget H21-29-2 % FH
D) ZPT 3= & Ject §e1-1 3hal-1 % F9
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A) MPH D) MVMT

A T e RTINS AR AR R e o R TP S YA S 2 Ut

7536 Pt i & 2w e RREEE (SIV) A ey mmmm@m%
A) MPH B) MVRH C) MCP D) MVMT

Q.37 Which relay first comes into action during wheel slip in conventional locomotive ?

A) Q-30 B) Q-20 C) QPDJ D) QD
I 37 FATA g § uftar e & S i o fieh ge gee e H STt 82
A) Q-30 B) Q-20 C) QPDJ D) QD

Q.38 Which among these is an uncontrolled or line-controlled switching device?

A) Thyristor B) Diode C) IGBT D) GTO
5 38 Y € FH 91 U AAhE a1 wga-fata fafinfeama 22
A) T3 B) S C) FATSSisiet INEIEED

Q.39 What is the minimum pressure in brake cylinder which causes Start Run Interlock and avoids
traction in 3-phase locomotives?

A) 0.2 Kg/sq.cm B) 0.3 Kg/sq.cm
C) 0.5 Kg/sq.cm D) 0.6 Kg/sq.cm

5539 3 freiet & e geTa 4T & ST 3-%T oM 8 TIE T $eeiioh 1 FROT ST @ S FHH0 H Sl 22
A) 0.2 frefromyent St B) 0.3 feretamayant &t -
C) 0.5 feretrmay/ant aft D) 0.6 fereiroma/ant @

Q.40 Who among the following family members is not permitted in privilege pass & PTO?
A) Spouse of a railway servant

B) Son & Sons who have not attained the age of 21 years and are wholly dependent on railway
servant.

C) Dependent widow mother
D) Father
w40 Frforiad o & o afam & weeg #1 froriierr e si didie it sgafa 7€ &2 !w

A) Tera S 1 Saaret

B) ST 3t it 21 o ol TRy W7 T o T & 37T i e e s ot iRl
C) anfira fererar it

D) far
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Q.41 Which among the following is part of winter drive in locomotives?

A) Cleaning of roof insulator B) Working of cab heaters
C) Working of sanders D) All the above
9 41 Frafafa § & = demifea & il gr5d w1 e 87
A) BT IR T THE B) % €1t 1
C) Fedwradd D) 3k @t

Q.42 What is the unique classification number given to the MCB located in the battery charging
circuit in between battery charger output and the loco battery?

A) MCB 100 B) MCB 110
C) MCB 112 D) MCB 112.1

T 42 FhEreiEEeye 3R Akl & e detarimathe § fua MCB %t &t 15 wtfadta sl deam Fr
Ly,

A) MCB 100 B) MCB 110
C) MCB 112 D)MCB 112.1

Q.43 What is the cock position in E-70 brake system during banking mode of operation?
A) Cock-47-open, Cock-74-closed, Cock-136-closed, Cock-70-closed
B) Cock-47-closed, Cock-74-open, Cock-136-closed, Cock-70-closed
C) Cock-47-open, Cock-74-open, Cock-136-closed, Cock-70-closed
D) Cock-47-open, Cock-74-closed, Cock-136-closed, Cock-70-open
w43  SfET e % 4R E-70 SeRfeed § wiw i feufd Fa g 8
A) FiH-47-GeT, Fich-T4-5, Hih-136-5¢, FHih-70-55
B) F%-47-53, Hieh-74-TT, Fih-136-9¢, FHih-70-5%
C) F1%-47-GeT, Hih-74-TeT, Hieh-136-5¢, Fih-70-55
D) #i-47-GeT, Fieh-74-58, Hich-136-51%, Fieh-70-Gel

Q.44 During VCD resetting in case of penalty brake applied & MR pressure dropping, the driver has
to wait for how much time after bringing the loco to a standstill?

A) 60 sec B) 120 sec C) 180 sec D) 240 sec

w5 44 VCD fRFEFT ¥ v tedisE et i MR SR e Y Rafy &, St =1 feor 6 & e geae it
fora a9 ok ST AT USdT 87
A) 60 8hE B) 120 ¥ C) 180 ¥&e D) 240 ¥%g

Q.45 On which :pane] of the scavenge blower contactor no 55.1/1 located?

A) HB-1 B) SB-1 . C) HB-2 D) SB-2

Page 8|18
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A) HB-1 B)SB-1 [4~()—CyHB-2 D) SB-2

Q.46 Which among the following relays a,;"e éiilﬁinated when the locomotive is modified from relays

T e - - AR A MR = i gt e

A) QCVAR B) QOP C) QLM D) QRSI

T 46 mmﬁﬁéﬁmmwmﬁmmm%ﬁﬁ%ﬁﬁﬁ
|1 e =1 SR e B Sar 8
A) QCVAR B) QOP C) QLM D) QRSI

Q.47 If earth fault occurs in outside of the SIV, lamp glows on SIV panel?
A) Internal fault B) OHE out of range C) External fault D) ELD Bypass

¥4 47 32 SIV F a1t 37 Gz #iar &, 7 SIV A w AT AT 7
A) Hiafe Biee B)OHEWAT® ()« el oice D) ELD sT891d

Q48 HRAVT switch is provided to isolate which equipment in conventional locomotives?
A) Static converter B) Battery Charger
C) Heater, Cab fan D) None of the above

FE 48 FATAC S5 H F A U0 T FO F forg HRAVT = waM foran st &2
A) Bfew w3t B) &t |rsit
O) &, Fa ¥ D) 390 | & 18 T

Q49  After using Rheostatic braking, if the loco trips on 6™ notch which contactor in TK panel is to be
checked?
A)C-118 B) C-107 C) C-145 D) C-108

¥ 49 M@&ﬁﬁmﬂww%mﬂﬁ@ﬁﬁmwﬁqam%aﬁmﬁmm
=1 5= it ST =R
A)C-118 B) C-107 C) C-145 D) C-108

Q.50 In Microprocessor based locomotives, which fuse is provided newly?

A) CCCPU B) CCINV C) Add. CCBA D) CCAD
¥ 50 ATEHININET ST S5 3 N H1 WY T SR ST 29
A) CCCPU B) CCINV C) Add. CCBA D) CCAD

Q.51 What operation is -to frequently performed by loco pilots to reduce wheel wear?
A) PVEF operation B) Use of RB
C)Both A & B 3 D) None of these.
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A) PVEF 39 B) RB &1 3/
C) A B AT D) 37 A H1S Al

Q.52 ‘Shakti’ scheme, which aims to provide free bus travel to women, is implemented in which
state? ‘
A) Kerala B) Karnataka ~ C) Odisha D) West Bengal

w4 52 ‘sﬁ’ﬁaﬂ,ﬁaﬂmqﬁa@ﬁgﬁwmmmiﬁmmﬁmﬁﬂﬁ?
A)FT B) FAleH C) anfem D) ufsm se

Q.53 Which among the following rivers is not a tributary of Mahanadi?
A) Jonk River B) Seonath River C) Subarnarekha River D) Hasdeo River

Q.53 referfas & & B g 0 e I HE T A
A) STk Tt B) Gy 7l C) gavtean dt D) gHad Tdl
Q.54 Which among the following contactors are not present in SIV Based Conventional Locomotives?

A) C-108 B) C-118 C) C-145 D) C-103
w1 54 Frefeiad § 4 FH 8 H=TRLSIV ST T ST 3 HISE e 87

A) C-108 B)C-118 C)C-145 D) C-103

Q.55 Fault code F 01 01 P1 is indicating which fault in 3-phase locomotives?

A) VCB stuck in *ON’ position B) VCB stuck in ‘OFF’ posiﬁon w
C) Low pressure panto / Faulty panto D) Catenary voltage out of limit.
9% 55 ®ieews F 0101 Pl 3 S ST i e wiee i §Ta e 8
A) VOB fia= ‘ON fufar if s T R B) VCB figmOFF feufa o s T R
C) % e 21 / At e D) Seiarees €T & et 8l

Q.56 Which among the following rotary switch in SB-1 panel of 3-phse locomotives is used for
isolation of bogie?

A) 154 B) 160 C) 2311 D) None of these

Q.56 3 Feermed & SB-1 ﬁqﬁﬁﬁnﬁﬁaﬂﬁﬁﬂqmﬁzﬂﬁaﬁﬁfﬁ%m%%ﬁmﬁm T
L3,
A) 154 B) 160 C)237.1 D) TR AFE T

Q.57 W’hibh is the first auxiliary motor located on Asst. loco pilot side, when we enter the machine
room from cab-2 side in 3-phase locomotives?

A) MVMT-1 B) MVMT-2 C) OCB-1 D) MRB-2
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oy

10 18

¥4 57 351§ H e & ohel-2 hl O § HR A &, A1 HeTe S Tee hi 0w Ford et

TF 58

Q.59

w59

Q.60

SAfersTertt diet &I 1 rdt 87

A) MVMT-1 B) MVMT-2. D) MRB-2
locomotives after 5.6 sec of its operation?

A) QVMT B) QRSI C) QVSI D) QOA

Frferfiaa & & o RS & darem @ FaTHe (WAG?T) S mIfed 379+ H=1e & 5.6 ¥ehe & a8 fefir

T HR T7GT 27
A) QVMT B) QRSI C) QVSI D) QOA

Operation of which of the following causes auto-regression through Q-51 relay in conventional
(WAG-7) locomotives?

A)Q-20 B) Q-48 C) PR-2 D) All of the above
fsfafaa § & fras da9rem 4 FavHd (WAG-7) 941 8 Q-5 17t & Areaw & 3H1e)- o grar 82
A)Q-20 B) Q-48 C) PR-2 D) 390 &t

Working of PG(Pulse Generator) in Speedometer circuit is based on which principle?

A) Lenz’s law B) Hall effect C) Pascal’s law D) None of these

75 60 TherieEhe § ISl (Teaeier) w1 FH e fagia w smatia 22

Qs6l

¥a6l

Q.62

FFE 62

Q.63

FE63

INGEEiCe B) & T9TE C)URaT®1 g0 D) FH A FIE A

Which among the following devices is not present inside a power converter (SR module) in 3-
phase locomotives? &

A) IGBT Drive side converter module B) CT (Current Transformer)

C) Battery Charger Module D) Pre-charging contactor
35 AR # TTa et (CHRHTETe) % e frferfiad & & Fi a1 3T HieE e 27

A) IS gTE ATSe FEeT Higg B) €iét (@ie giaw)
C) St =R digge D) Si-afSiT &t
During bogie run test, the temperature rise is checked at which location?

A) Axle Box B) Gear case C) MSU D) All of these
it T Fherer o S areH gig Y st e s W S 2 !

A TFEa sEE - B)fREw C) MSU D) T &xf

Which among the following measuring instrument is used for measuring the insulation resistance
value of a device?

A) Megger ' B) Clamp meter C) Stroboscope D) Tachometer
Rt ST 3 SO SIfeRTer AT o a3 ferw Fferfam 5 & fo aas 2 <hn g fefar St &2
A) TR B) A HieX C) FErEh D) 2shrtex
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Q.64 How many sander equipments are fitted in a locomotive?

A)2 B) 4 C)6 D)8
U 64 Tah Arhiied H fara St 3ushor ot B 87
A)2 B) 4 )6 D)8

Q.65 WAP-5 loco is classified in UIC classification of loco axle arrangement as
A) Co-Co B) Bo-Bo C) Twin Bo-Bo D) Bi-Bi
W 65 WAP-5 Siehi i SHIoh! Taeet a1 & UIC Siehor & affeher fohaT 1T &
A) Co-Co B) Bo-Bo C) Twin Bo-Bo D) Bi-Bi

Q.66 What is the timer relay setting of Q119 relay in compressor control circuit?

A) 0 sec B) 2 sec C) 3 sec D) 5 sec
Q.66 e Feriavr wfdhe § Q119 et it ergwfciafen 7 &2

A) 0 ¥&Fg B) 2 ¥ C) 3 d%s D) 5 %
Q.67 What is the gap between the two arcing tips of ET-1 surge arrestor?

A) 105 mm B) 300 mm C) 210mm ' D) 70 mm
T 67 ET-1 Weisiteet 3 3 i 0 o off &1 3iew 7 22

A) 105 ot B) 300 it C)210 it D) 70 faft
Q.68 Whi.ch device is brought into service on closing C-145 contactor?

A) ARNO B) SJ C) ATFEX D) MVRF
168 C-145 W o e e e e o e 27 ud

A) ARNO B)SJ C) ATFEX D) MVRF

Q.69 What are the entries made by Loco pilots in log book?
A) Crew name, loco name, faults on run B) Enroute detention details

C) Sign-on Sign-off time D) All of these
T4 69 RIS G AT g H F sfafEaAt i s &

A) T & HT A, Al HT AW, [ H A T B) A7 & o S 1 feyawor
C) UTEH-3AT F134-3ATF 97 D)

Q.70 . Which railway zone achieved the highest freight loading in MT in the FY 2023-24?

A) SER B) ECR C) SECR D) ECoR -
w270 o o 2023-24 § MT ¥ fore teral <9 3 ot 3115 AT @1e wiiere foram?
A) SER B) ECR C) SECR D) ECoR
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Q.71

Which among the following rotary.sWitehes i s not found on TB panel on cab-2 in WAG-7
locomotives? ' %

A) HVMT B) HCP ﬁ 7 ) HVSI D) HMCS
w371 Pt § & 9 e dedRaawA et i 1.2 T e o v T 7
B A) HVMT B) HCP C) HVSI D) HMCS o
Q.72 Which among the following auxiliary motors has the highest KW rating?
A) MVMT B) MVSL C) MPH D) MVSI
5 2 Fefefes 3 3 e et mer i Kw e ved stfue 27
A) MVMT B) MVSL C) MPH D) MVSI
Q73 What is the nomenclature of the bushings having secondary transformer winding for bogie-1 in
between them?
A) AD-A33 B) a0-al C) a3-a4 D) a5 a6
a3 =il ¥ o e gremmiRasiEn aret i s T w22
A) AD-A33 B) a0-al C) a3-a4 D) a5 a6
74  Which switch on driver desk has to be operated frequently during isolation of RGCP during
running of locomotives?
A) BLCPA B) BLCPD C) BLVMT D) None of these
5 74 FEmEIe % do ¥ A0 ARSE & ATTHATA 3 0 S STk W A1 b s-ar deierd
EZSIR IS
A) BLCPA B) BLCPD C) BLVMT D) 38 ¥ FI§ T8 .
Q75 During loco brake power test in a WAG-7 locomotive on application of SA-9 and after ensuring )
BC pressure of 3.5 Kg/Sq.cm, while notching up though MP, the locomotive should not move up
to a TM current of ?
A) 400A B) 500A C) 600A D) 700A
5575 SA-9F IR WAG-7 Semifed § Srpisier Tat wreror & 2R 31 3.5 freitm/art &=t %1 BC
Z=7 a0 3 19, MP 3 HTeaw & AR i T, Senimifed i TM ST ae T g1 e
A) 400A B) 500A C) 600A D) 700A
0 76 What is the probable cause of wheel skidding?
A) Defective C3W distribution valve B) Train poor brake power
C) Poor Engineman ship D) All of the above.
5 76 TEaT fHae o ETied T T
A) 3ot C3W fareror arem B) 3 i @« s Wtk
C) T SRR D) I el
Page 13|18



Q.77 What is to be ensured before performing LT(Loco Tension) test on locomotives? E

=77

Q.78

TH 78

Q.79

TH 79

Q.80

T4 80

Q.81

94 81

Q.82

A) Building of MR pressure to 9.5 Kg/Sq.cm

B) Battery voltage to be below 90V :
C) Pantograph to be raised before closing DJ -
D) Loco not be grounded.

AT /LT @ﬁiﬂmqﬁww%qﬁ@rwgﬁf‘%mmm 3
A) MR g %1 9.5 fepetm/ant et aeh sgrT

B) efiaieew90V & FH BT

C) DJ i i A & Teet T H1 FC IS q
D) St @1 Trse e fopa s =R d

What is the maximum speed of operation of locomotive when EBV or for Brake Electronics in
WAG-9 locomotives equipped with CCB brake system & the driver switches over to PTDC

mode of operation? Q
A) 1 Kmph B) 5 Kmph C) 10 Kmph D) 20 Kmph

ST WAG- Sienmifea & sergeiagiad o ¢ EBVB CCB Serfren & o A & 3 g SHEH

¥ PTDC Hie T Reara T 8, a1 SliehiAIed & Heirer SAferamaw Tifer T el &2
A) 1 Tt wfa s B) 5 feeft wifer wier o) 10fmfisfaser D) 20 fopedft wfd wer 3
Which of the following switch is not required in freight locomotives:
A) BPFA B) BPCS C) BLHO D) BPPB
T et Frefad i & i & R 7 s T A ¢ ¥
A) BPFA B) BPCS C) BLHO D) BPPB
What is the diameter of new wheel in locomotives? M
A) 1080 mm B) 1092 mm C) 1050 mm D) 1098 mm
AT 7 ol i T e g 2 Q
A) 1080 fast B) 1092 faeft C) 1050 ot D) 1098 fat
What is the ratio of load distribution between the front two & rear two side bearers on a bogie i
WAG-7 class of locomotives? -
A) 50:50 B) 70:30 C) 40:60 D) 20:80
WAG-7 3oft 3 $oH1 § T Sl o ST 21 S 3 2 aree a3 e e T T ST T
A) 750:50 B) 70:30 C) 40:60 D) 20:80
What is the probability of drawing queen cards on a pack of 52 cards? "
A) 1/26 B) 1/12 C) 113 D) Y2 .

5 =
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S 82 52 O Fhe WO 3 0 Pt ST

A) 1/26 B)1/12 .

C)1/13 D) Y4

Q.83  Which section in an electric loco sheh‘iéfﬁésrgned the work of liaisoning with TLCs for calling of
; locomotives to shed for schedule inspection/unscheduled inspection?

T

A) M-5 B) PPIO C) General D) E-4
| wEs3 P e & i s A srgf s e 3 fo e arae g
Tore Fraeret % T wush 1 S iy mr
A) -5 B) fidftarréat C) qm= D) ¥4
Q84 If the length of each side of a rectangle are doubled, its perimeter will be

A) Halved B) Doubled C) Become 4 times D) Become 3 times
Q84 == el S1ra ot et i aTs SN R 2 ST, | 6T aRET a1 B
ynics in
b A)SMIEIS@N  B)IAMETTN  C)4TNEASENT D)3 RS
Q85 What is the type of cooling used for cooling pf transformer oil of locomotives?
A) ONAN (Oil natural Air Natural) B) ONAF (Oil Natural Air Forced)

C) OFAN (0il Forced Air Natural) D) OFAF (Oil Forced Air Forced)
FE 55 TR ¥ ZAEHT ST P ST R % Forg e T ) e v 3w e st

A) ONAN (31 STeHfor a1 ST o) B) ONAF (T ST a1 arer)
C) OFAN (0¥ /e a1 WTehferh) D) OFAF (d0d &1 a1 aie)
Q86  Which among the following motors work on DC supply?
A) MCP B) MVMT C) MCPA D) MPH
75 86 Fefafad 8 3 #9 o die i g o w22
A) T B) wHfiemdt C) T D) THYTe

Q.57 Removal of bogie & superstructure of locomotives is usually done in which bay inside loco
shed?

A) Inspection Bay B) Medium Lifting Bay

1 a bogie 4 C) Light Lifting Bay D) Heavy Lifting Bay

55 87 s i i 3 A g H FH A G AR ¥ 31 i o i i s ¥
A) Fgoa B) Heaw ferfdm o
C) e ffie D) ¥eiferien 3

Q88  What is the cgpacity of underslung compressors fitted in 3-phase locomotives?

A) 1000 LPM B) 1500 LPM C) 1750 LPM D) 2000 LPM
TH 88 359 ST H ol HSTETHEIGT T &ngaT FaT 2

A) 1000 Terden B) 1500 Terdiug C) 1750 Terdiuy D) 2000 Tedey
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Q.89 What is the energy flow in 3-phase locomotives during Regenerative braking?

A) OHE —= Transformer—= Line side converter—= DC link—= Driver side converter
— Traction Motor

B) Traction Motor—= Driver side converter—= DC link— Line side converter —=
Transformer —= OHE

C) OHE —= Line side converter—= Transformer—= Driver side converter —= DC link
—= Traction Motor

D) Traction Motor—= Driver side converter—= DC Link—= Transformer—= Line side
converter—= OHE

W 89 fomifem wfehm & S 3-%e 51 | el waTe 1 87
A) 3T THEH— T3 AEEHTE—~ S foiF—~ IR ASFAT— JHH A
B) IR IR SR AGEEHATL —~ Sl foidh — T agesiact —~ Zaei— 33
C) JATHE —» TS HIFSHATAZAHH—> glsatmsaﬂa'&» gt feis - dFm A
D) 3HH A — IR AESHFAAL—> S i ZAEMHT—» T AFSHFAAL— AN

Q.90 Which among the following auxiliary motor is used for cooling of DBR?

A) MVRH B) MVMT - C)MVRF D) MVSL
g 90 Frefefaa I & #5 Hi e 2iet DBR 1 381 % & fofq 3T i St 27
A) MVRH B) MVMT C) MVRF D) MVSL

Q.91 In 2019, which popular singer was awarded the Bharat Ratna award?

A) Lata Mangeskar B) Asha Bhosle

C) Bhupen Hazarika D) Manna Dey
Q.91 2019 H foFe T T T WA ToT JEEh & GHATH [ohaT 1T

A) AT TR B) 37131 STt

C) ¥ETESITTERT D) ¥R
Q.92 The study of heavenly body is known as ?

A) Astrophysics B) Astronautics C) Astrology D) Astronomy
TH.92 IR fifg % ST I 1 Fed 87

A) @ et B) 3fafee fagm C) safer D) @it fagm
Q.93 which among these is a PSU of Indian Railways?

A)KRCL B) RITES C) CRIS D) All of the above.
95 93 THH & N AT T T HTaIeh 9 87

A) FHRETET B) T5eH c) frar D) ST &t |
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994

Q.95

es in wired combination coupled together for

higher hauling capacity required i _ 115 called?

T\l

A) Multi-operation

A) Hed -9 B) #f3iowm
C) faafi yrar arreig fgaur D) 390 & &1 &

Which relay comes to operation when braking excitation contactor C-145 does not close during
Rheostatic braking in conventional locomotives?

A) Q-49 B) Q-50 C) Q-51 D) Q-52

95 95 aﬁvﬂam&ﬂsﬁéﬁa@ﬁm%mm@mmc-ms 2 T B WA A e e
BT 37
A) Q49 B) Q-50 C) Q-51 D) Q-52

Q.96

996

Q.97

q997

Q.98

At which position the MP should be operate the reverser handle MPJ in conventional
locomotives? ' '

A) 6P! B) ‘N’ C) tO! D) 6H!

FTe o1 3 FeaedzsamPp) ﬁﬁaﬁamﬁ%%qwﬁ%aﬁmﬁrﬁﬁmﬁw
A) P’ B) ‘N’ C) ‘o’ D) 4+’

If there is fire in machine room of 3-phase locomotives which fault code will appear on Drivers
Display Screen?

A) Fault Code F1501P1 B) Fault Code FO101P1

C) Fault Code FO602P1 D) Fault Code F1010P2

R 3-SR mes & wefiy v i ST T Seft R <t grea fevet whia v i a1 wieewre R 2o
A) BIeeHIEF1501P1 B) ®ieeHIEF0101P]

C) ®IeZhISF0602P1 D) %IcZHISF1010P2

If Harmonic filters in 3-phase locomotives gets isolated, the speed of operation is restricted to
A) 20 mph B) 40 Kmph C) 60 Kmph D) 10 Kmph

oy 9suﬁ3-ﬁm§aﬁﬁ3ﬁﬁ$ﬁﬁtmﬁaﬁ%‘,?ﬁﬁwﬁnﬁmﬁaaw%

Q.99

A)20dgfaser  B) 40 et ufi ger C)60 frftufasier D) 10 foreft wfiy sy

The type of baneﬁés used in WAG-9 class of locomotives is
A) Ni-Cd B) Lead Acid D) Zinc — Carbon D) Alkaline
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¥4 99 WAG-9 J9ft & S5 § 5k et =1 vohr 8

A) Ni-Cd B) Seufie D) fSiw-wrla D) &g
Q.100 Notch indication in tap changer based locomotives is done with help of

A) ATFEX B) Selsyn Transformer B) ARNO D) SJ
41 100 3SR ST SRR i AR e mag & frm |

A) ThTHTE B) dfcer Ziawmt B)SfHi  D)TEw

T 101 TSITST Goieft Goety afife & sreaer g £
@HEfmE @) FEFrEt @ Ht ()R
S 102 TSMTST f2m she wrfid for oy

(A) 17.07.1976 (B) 10.05.1976 (C) 24.10.1976 (D) 03.08.1976
P 103 TSt e, 1976 Frer treer qw e e &
(A) FATH (B) ¥ (C) 3Tier yemT (D) dftreTg
W 104 TSTHTYT & S0 & Gool & 64 91 U & o F et s 2o
(A) TSR (B) HERTE (C) Uit (D) &t
P 105 Fermt % s Ae-feet vimet wreelt 3 Ay wg, vy vg ok g g el i s areht s
AT 0 T BT AR
(A) Tt s, siarslt sy, Safrr s (B) &nsfiar same, Tt same, gt smar
(C) &sfrr e, idrsft s, fét s (D) SISt e, Bt T, & s
S 106 wferar i o fédt 1 arormeT s o ST e ey e o “
(A) AETeAT Tieft (B) TMUTeT TTHY 31ETR
(C) ©Y. TeAITeT= (D) SaTeL STl JeE
5= 107 Ty f& feaw e wamr ST 29
(A 14 fods (B) 8 9 (C) 26 S (D) 10 St
w4 108 f&t faveror A & siertal fedt vir 3 for fferfam & & e & wften wraas wenfera fre ma @
(A) Sy, eftor, srer 3 i (B) wsiter, Waftor 3R uie
(C) TRt Zapor afe et smmayferfiy (D) 39 T IS 781
4 109 HHIT TeraTeT Aiufd § e gee £
(A)20 (B) 40 (C) 10 (D) 30

T4 110 T9e F IHT TAT ST TINTST WEdT9 el a1 Fiar
(A)1968 (B) 1967 (C) 1959 (D) 1960
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